
1 2

3 4

2 1

1 1

桌脚 左桌腿

右桌腿 左横梁

1
右横梁

15 6
中间管

2
支撑板

7

x2C

5x5/4x4扳手

A x12

螺钉M6x16

B x4

螺钉M8x50

x2D x2E

螺钉M6x10

x10F x10G

减震垫

A x8

M6x16

B

M8x50

x4

C

5x5

x1

螺钉M8 螺钉ST4.2x19

1

1

2

3
4

6

5

7

7

A

①

②

C

5x5

x1

C

C

E D

⑥ ④⑤

C

4x4

x1

D

M8

x2

E

M6x10

x2

C

B

③

Installation guide: Fixed - Height Side Table

技术参数

150 lb

29"

Width 48" - 60"

Depth 24"

16725 (Grey)
Product Model

Max. Load Capacity

Height

Tabletop Dimensions

Attention: The drawings below are for guidance only and they may differ slightly from the product and fittings received. Please contact our 
customer service department if there are any missing tools or installation problems.    mojodesk.com/help

M85x5/4x4 Allen keyM8x50M6x16 CushionST4.2x19M6x10

Component List Installation Diagram

No. Part Qty No. Part Qty

Feet Left column

Right column Left beam

Right beam Intermediate tube

Supporting plate

STEP1

STEP2

STEP3

Install feet

Connect foot (1) to feet(2&3) and then lock 
them by using screw A and 5*5 Allen key C.

Install beam assembly

Insert intermediate tube into left and right columns(4&5) to a proper position. Then use 4*4 Allen key to tighten C 
screw D and E.

Connect beam assembly and column 
assembly

Fix the beam assembly on 
column (2) & (3) and use 5*5 
Allen key C to screw screw B

Beam assembly

Column assembly

16724 (Black)



F x10

ST4.2x19

C
A

⑦
G

C

5x5

x1

G x10

A x4

M6x16

Cushion

F

● 不允许儿童在该产品上玩耍。儿童在产品上玩耍，有些行为是难以预测的，由此而导致的危险后果厂家不负责任。

● 在了解相关危险的情况下操作，七岁或七岁以下儿童以及存在身体感官等缺陷，心智不健全的人员请在正确的监护和指导下使用。儿童不得随意接触玩耍。

● 儿童不得在没有监护的情况下进行清洗和用户维护。

● 请确保您的操作环境没有任何的危险源，例如不要将您的工具随处乱丢。并始终谨慎处理包装材料，以避免各种可能的危险，如儿童玩耍塑料袋，可能造成的窒息危险！

● 如有必要请保留该器材的原始包装，以备您今后运输时使用。

● 电器盒内含有电子元器件、金属、塑料、导线等等，应按照各国使用环境法规来进行处理，不要按照常规家庭垃圾处理。

本产品含有一些小型零件，若不慎吞咽，将存在窒息危险，请将这些小配件远离儿童放置

● 确定安装前已阅读完说明书并完全懂得如何安装，如不懂其中任何一个安装步骤，请联系专业的安装人员。 C01

STEP4

STEP5

Install supporting plate and cushion

Use supporting plate (7) and screw A to connect column(2) & (3) 
and then use 5*5 Allen key to tighten them. Install cushion G to 
the corresponding position.

Install tabletop

Use Philips-head screwdriver to connect F 
screw and secure frame to tabletop.

This marking indicates that this product should 
not be disposed with other household wastes. 
To prevent possible harm to the environment 
or human health from uncontrolled waste 
disposal, recycle it responsibly to promote the 
sustainable reuse of material resources. To 
return your used device, please use the return 
and collection systems or contact the retailer 
where the product was purchased. They can 
take this product for environmental safe 
recycling.

There's spare parts in the package, which will lead to asphyxia if swallowed by accident. Please keep out of the reach of children for the spare 
parts.

● Make sure you have read and comprehend the manual for installation. Please contact the specialized persons if there's any confusion in the
steps.
● Children are forbidden to play on the product because of unforeseen action when playing, so any dangerous consequences caused by this
improper action will not be on 

● This appliance can be used by children aged from 7 years and above and persons with reduced physical, sensory or mental capabilities or lack

of experience and knowledge if they have been given supervision or instruction concerning use of the appliance in a safe way and understand 
the hazards involved. Children shall not play with the appliance.
● Children must not perform cleaning and user maintenance without supervision.
● Please make sure there is no hazard sources in your operating environment. e.g., do not litter the tools around. Always be careful to treat the packaging
materials in order to avoid any possible danger, e.g. plastic bag may lead to choking hazard to children.
● Keep the original package of the equipment if necessary in case of the future use in transportation.

Warning

Need Help?
Go to

mojodesk.com/help or 
call 800.297.6656


	Page 1
	Page 2



